E gwmw > <-‘;—‘g ,Eu%}:ﬁ_,}@a

<#hfa B
IV[KG—F/KG—JJF‘]---ZDI'J f£10 706 A

(KG-F] HEZE =1/197.9 ~ 185.1 (1/24.4 ~ 22.9) FEZE = - ] 3.0% - #4#E 100.0%(ST=74)
EHA=-STH /74 [E - BEE /100 @

(KG-JUF] FE3 =1/1938(1/23.9) HEZE = - #] 3.0% - #£#t 100.0%(ST=74)
EHiR=-STH /74 E - @EE /100 @

WFRY 7 VST

WE R AR - 2L

WA R AT — 408
BREHEE - BT = — Rk
W7 FEE- -5y

BN DR 51
H1/27.3( )
WEFHE TS

HIK =3&18384&15&15

E Ik =1&1&38&4&15&15

[MAX HHE])

WAL R

<IRY A — R A >

[KG-F/KG-JJF]

(E. T3\ 15{8 /40) o | EEE
- F 2R 112 {8 @ | 1/ 1979
'£4R ”224g @ |1/ 1933
L IR +++280
.k 5+ F 5R---560 {& @ |1/ 1918

@ | 1/ 1804
|1/ 1872
& | 1/ 1881

[E#ESaL—2a))

<SEBREEM= & E>
KOMTFIE, RRHERLET, (RE (KG—F] [KG—JJF])




